H & 0l & AHS B Ml A

SA: OFS=XIDt
33 Ots=A &84
el 25 K& EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ots=X1 211,252,484 210,492,251 760,233
= 118,962,063
[ 5,895,668
Jl 3%4,429
< 48,347,179
Al 37,653,145
Ors=X 58 209,562,008 208,812,129 749,879
= 118,962,063
s 4,985,808
Il 3%4,429
= 48,072,251
Al 37,147,457
25 X& 131,817,865 131,897,220 ANT9,355
= 76,643,503
== 36,715,859
Al 18,458,503
222 J& 53,225,513 62,589,960 N9, 364,447
= 39,919,134
[ 5,322,552
Al 7,983,827
301 LEIEE S 53,225,513 62,589,960 N9, 364,447
= 39,919,134
s 5,322,552
Al 7,983,827
01 Al E2E AL S(FRNEXM) 53,225,513 62,589,960 N9, 364,447
ogxRot2=E= XA 53,225,513
= 30,919,134
= 5,322,552
Al 7,983,827
3MI~OAI el e BES&8 21,880,188 25,495,668 A3,615,480
[ 21,880, 188
301 LEtE N = 21,880, 188 25,495,668 /3,615,480
S 21,880,188
02 MBI 2EHSFHS(HAANS, XLHE) 21,880, 188 25,495,668 A\3,615,480
O3MI~5Ml 2l tE B82 21,880, 188
= 21,880,188
FRRE ANREEZ XN 2,255,040 3,390,720 1,135,680
< 676,512
Al 1,578,528
301 EtE NS 2,255,040 3,390,720 1,135,680
= 676,512
Al 1,578,528
02 ARSI 2 X LGS (FHAAHS, XNLWE) 2,255,040 3,390,720 1,135,680
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SA: OFS=XIDt
33 Ots=A &84
g9l =25 A EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 212,744 241,000 31,744
OAZLAISE 2=AH 212,744
= 136,372
< 68,186
Al 68,186
2220 (Hot+E) XA 43,218,868 26,827,000 16,391,868
= 34,644,744
< 5,774,124
Al 2,800,000
301 2eEN= 43,218,868 26,827,000 16,391,868
= 34,644,744
=S 5,774,124
Al 2,800,000
01 Al EE AL S(FREXMH) 43,218,868 26,827,000 16,391,868
OR2=0(g0t+g) XA 43,218,868
= 34,644,744
= 5,774,124
Al 2,800,000
SOISEXNZHH AE2S 631,000 592,000 39,000
307 @I2t01 & 631,000 592,000 39,000
05 2IR”IRIE = 631,000 592,000 39,000
O=F0IEe X A52g 631,000
SOISSAZHE 2S(HSAY) 25,000 40,000 A15,000
= 12,500
Al 12,500
307 elzto| & 25,000 40,000 215,000
= 12,500
Al 12,500
02 2IZHBYAIHE A 25,000 40,000 15,000
OF0ISEANZHH FE2UFA 25,000
=S 12,500
Al 12,500
=0ISEXNEHE HE 100,000 1,000,000 A900,000
405 KHakE SH 100,000 100,000 0
01 It =S F = 100,000 100,000 0
OF0ISSXAHE AHE 100,000
ool &= 232,500 220,000 12,500
= 55,000
< 27,500
Al 150,000
401 AlEHIZL S0 212,500 200,000 12,500
= 50,000
== 25,000




SA: OFS=XIDt
33 Ots=A &84
g9l =25 A EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 137,500
01 AlZ2H| 212,500 200,000 12,500
o0elod &= 212,500
= 50,000
= 25,000
Al 137,500
405 AtatsE = 20,000 20,000 0
= 5,000
= 2,500
Al 12,500
01 ML ESFSHI 20,000 20,000 0
O0elold &= 20,000
= 5,000
S 2,500
Al 12,500
SN HRMHSAX(HHRA XIH) 1,233,705 1,142,910 90,79%
= 740,223
= 246,741
Al 246,741
307 glztol & 1,233,705 1,142,910 90,79%
= 740,223
== 246,741
Al 246,741
11 AMEISXAEEES 1,233,705 1,142,910 90,79%
OEswAA MBAL XI& 1,233,705
= 740,223
=S 246,741
Al 246,741
ERuAE SEE XN 1,372,800 1,508,400 135,600
301 2EN= 1,372,800 1,508,400 135,600
02 MBI 2HEHSFHS(HAANS, XLHE) 1,372,800 1,508,400 /135,600
OEFuXA SEd X2 1,372,800
Oelold Esudd NS H= tY N3 47,150 50,600 23,450
307 elztol & 47,150 50,600 A3,450
06 2= 47,150 50,600 A3,450
OO0l ESuUAA HMEHI2 It Xl
! 47,150
Oelold Oi2l0l St s M=l Ity A 89,600 97,085 NT,485
307 21201 & 89,600 97,085 AT,485
06 28= 89,600 97,085 AT,485
OO20lE ofelol et SH= Ity X 89,600
CIZIIEHOIEI0IE EFuAl 288 K& 108,000 144,720 A36,720
307 lztol & 108,000 144,720 A3B,720
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A OISR
Hu: Ols=x S

o“R: Ots=Xl K& (CH9: &S1)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

01 A EEATZ(2DEZME) 1,200,000 1,056,000 144,000
OESE=0ts NE+g 1,200,000
960,000
72,000
168,000

hoH

=

Ots==g XI& 37,338,040 40,047,675 A2,709,635
31,500,480
3,937,560
1,900,000

SR

=

301 Et2 &= 37,338,040 40,047,675 A2,709,635
31,500,480
3,937,560
1,900,000

Mo

=

01 Al EE A GIS (2 DEXTHE) 37,338,040 40,047,675 A2,709,635
oots=+=¢ X 37,338,040
31,500,480
3,937,560
1,900,000

Mho

=

Ot 2 EXI3 A X 3,654,072 1,631,312 2,022,760
2,557,850
548,111
548,111

Mho

=

301 22N = 3,654,072 1,631,312 2,022,760
2,557,850
548,111
548,111

o

=

01 AIBIEEH6IZ (2 REXTHE) 3,654,072 1,631,312 2,022,760

e 3,654,072

2,557,850
548,111

Al 548,111

hoH

& 9,000 10,000 A1,000

N
el 9,000 10,000 A1,000
(el ] 9,000 10,000 A1,000

Oots=XE® K& 9,000
oty olEd XIE 5,989,000 5,488,000 501,000
4,936,000
461,000
592,000

hoH

=

301 LeHEN= 5,989,000 5,483,000 501,000
4,936,000

461,000
Al 592,000

Mo




A OISR
Hu: Ols=x S

n H =t NP (che: ®2

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

IREEEEREEREEITE) 5,989,000 5,488,000 501,000
Oxor 0|8 X 5,989,000

4,936,000
461,000
592,000

hoH

=

Ols2s Mg A& 50,000 50,000 0
40,000
5,000
5,000

SRR

=

201 Zet2 & 29,000 25,000 4,000
23,200
2,900
2,900

SAREY

=

01 AFS2t2ltl 23,800 18,800 5,000
O0ts23 MYe¥ XA (AIZHl) 23,800
19,040
2,380
2,380
02 S32gl 1,200 1,200 0
O0ts23 MY¥ XA (AIZHl) 1,200
960
120
120
03 HAI2HI 4,000 5,000 21,000
O0ts23 MYe¥ XA (AIZHl) 4,000
3,200

400

400

SRR

=

SRR

=

Mo

=

301 22N = 21,000 25,000 A4,000
16,800
2,100
2,100

SRR

=

01 ARSI EE A6 (2 DEXTHR) 20,000 25,000 /5,000
O0ts2s MYe¥ XA (AIZHl) 20,000
16,000
2,000
2,000
11 EAAHIXIRS 1,000 0 1,000
O0ts2s MYe¥ XA (AIZHl) 1,000
800
100

SRR

=

SRR

FHAANE OlsSEAEIA X2 369,500 369,500 0

[




2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

SAREY

=

295,600
36,950
36,950

SRR

=

29,400
23,520
2,940
2,940

38,870

N9,470

01 AF22t2ltl

OCEEHAEEWH 29

|> MO
[=S

m 08

o S
In oy
ov O

m
x
T
Ho
02

SRR

=

SRR

=

10,400
10,400
8,320
1,040
1,040
19,000
19,000
15,200
1,900
1,900

12,030

21,630

ANT7,840

202 O]

SRR

=

2,600
2,080
260
260

21,530

01 2L AL

OCEEAEEHH 29

SRR

=

2,600
2,600
2,080
260
260

4,130

21,530

SRRE]]

=

330,000
264,000
33,000
33,000

316,500

13,500

11 HAIMHIXI R =

©
In
o
|
m
x
T
o
02

14 DBt 2 a3
OSYAEIEHH

H0
02

Mo

=

Mo

1]

38,430
38,430
30,744
3,843
3,843
17,570
17,570
14,056
1,757
1,757
274,000
274,000
219,200

19,430

20,060

277,010

19,000

A2,490

23,010




FA OtSS A0
33 Ots=A &4
s Ots=A A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 27,400
Al 27,400
307 elztol & 7,500 10,000 22,500
= 6,000
== 750
Al 750
0192 & 3=l 7,500 10,000 2,500
CEAEENH 2 7,500
= 6,000
== 750
Al 750
CEEAEE 2H4HdE A2 2 5,400 6,000 2600
201 er23 | 5,400 6,000 2600
01 At2teltl 5,400 6,000 2600
OEHAEIE 2ty FHZEN2 29 5,400
CEHAERE HAHH SXE 20,130 20,130 0
201 er2 3| 20,130 20,130
01 AtR2te|HI 20,130 20,130
OLEAEE HaldH itz 20,130
CEAEE 2HHE 4 E53A 60,000 0 60,000
401 AIEHIZ SR HYI 60,000 60,000
01 Al&HI 60,000 60,000
OEHAEE 2AHHIE F2= E3At 60,000
ARIS XA SXPHE K& 112,200 107,100 5,100
307 glztol & 112,200 107,100 5,100
11 AMEISXAEEES 112,200 107,100 5,100
OAtRIS XA SXI9tE XIE 112,200
OtS=XIAIE XI& 24,186,865 24,104,888 81,977
= 1,521,954
s 4,650,208
Il 9,500
= 5,883,615
Al 12,121,588
OISSXIAE 28X 4,097,904 4,742,919 A645,015
= 830,656
Al 3,267,248
307 @12to| & 4,007,904 4,742,919 A645,015
== 830,656
Al 3,267,248
10 Al2ISTIAEEE2HIEX 4,097,904 4,742,919 A645,015
OO0ls=XAIE 28X 4,097,904
< 830,656




fA: Ols= X
g Ols=A 88

l: OFS=XIAIE X (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
| Al 3,267,248
OlS=XAE SAHA S8 303,120 303,120 0
== 86,616
Al 216,504
301 2eEN= 303,120 0 303,120
< 86,616
Al 216,504
02 MBI 2HHSFHS(HAANS, XLHE) 303,120 0 303,120
OOtS=XAIE SAHA S8 303,120
= 86,616
Al 216,504
Ols=XAE 230ls X 39,186 39,155 0
301 EtE NS 39,155 39,155
02 ARRI2HHSHS(HAAS, XY 39,155 39,185
OOS=XNAIE 230Hs 2t 26,555
OO0IS=XAE 230ts =501 4 12,600
Ots=XAIE JIs2Z 19,000 180,737 161,737
Jl 9,500
== 6.650
Al 2,850
402 2I2E X201 & 19,000 180,737 161,737
J| 9,500
=S 6,650
Al 2,850
02 BIENEASEZ(0IETHR) 19,000 180,737 161,737
OO0ts=RAE JIsEZ 19,000
Jl 9,500
= 6,650
Al 2,850
MAS0 (OLSEXIAIE) 570,000 570,000 0
= 513,000
= 39,900
Al 17,100
307 gl2to| & 570,000 570,000 0
= 513,000
= 39,900
Al 17,100
1 AMEISXAEEXS 570,000 570,000 0
OMASH(OtS=EXIAIE) 570,000
= 513,000
< 39,900
Al 17,100
AE0ts X2 158,528 140,028 18,500




2A:
X XH -
o e

=aak

Ots=X11t
o= 58
Ors=EXAIE X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 47,558
Al 110,970

307 lztol & 158,528 140,028 18,500
= 47,558
Al 110,970

11 AMEISXAIEEXS 158,528 140,028 18,500
OAN40ots XI& 158,528
= 47,558
Al 110,970

2SlYots 88 =4 1,693,686 2,340,570 A\646,884
= 894,468
= 670,851
Al 128,367

307 gl2tol & 1,693,686 2,340,570 A\B46,884
= 894,468
= 670,851
Al 128,367

10 Al SXAAEEHE2EHI2x 1,693,686 2,340,570 A\646,884
OZ2sldots 188 29 1,693,686
= 894,468
& 670,851
Al 128,367

Stiiuloiots &l 29 258,694 247,982 10,712
= 99,156
< 74,369
Al 85,169

307 lztol & 258,694 247,982 10,712
= 99,156
== 74,369
Al 85,169

10 Al2ISTIAIEEE2HIEX 258,694 247,982 10,712
Osttiulsiols dH 2¢ 258,694
= 99,156
=S 74,369
Al 85,169

Ols=XAIE AN SIS NHEXH 21,900 24,800 A2,900
= 16,330
=S 3,285
Al 3,285

307 @12t01 & 21,900 24,800 2,900
= 15,330
= 3,285
Al 3,285




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 21,900 24,800 22,900
OOtS=NAIE ZAHE Xs0ts AEXE 21,900
= 15,330
< 3,285
Al 3,285
SSHEIIF(OEE) A HEE 28,800 28,800 0
= 8,640
Al 20,160
307 el2to| & 28,800 28,800 0
= 8,640
Al 20,160
10 AlISXAZEE 22X 28,800 28,800 0
O3sdEIIE(OES) SAL BE=E 28,800
s 8,640
Al 20,160
SSHEINE(OES) S ORIZ28:E 39,600 39,600 0
== 11,880
Al 27,720
307 elztol & 39,600 39,600 0
= 11,880
Al 21,720
11 AMEISXAIEEXS 39,600 39,600 0
O3SHEINE(OES) AL ORI22%
e 39,600
=S 11,880
Al 271,720
SSUEIH(OAES) SAHK Q128 =IOt 203,965 32,174 171,791
< 61,190
Al 142,775
307 glztol & 203,965 32,174 171,791
= 61,190
Al 142,775
10 Al SXAAEEHE 22X 203,965 32,174 171,791
OZ3SYEINE(OAES) SALL 1Al =0t
A& 203,965
=S 61,190
Al 142,775
OlSZAESAE 2EXE 597,756 597,756 0
< 298,878
Al 298,878
307 lztol & 597,756 597,756 0
= 298,878
Al 298,878




2A:

E M

Ots=X11t
o= 58

l: OFS=XIAIE X (SH9 H2)
SA - Z - B2A(S1H) - HRAES of v e HIDE2
10 Al SXAIEEHE2EHI2x 597,756 597,756 0
OO0lsZAESAIE 2HX= 597,756
= 298,878
Al 298,878
Ciet=ssde &Xdl X2 70,000 310,000 240,000
[ 50,000
= 10,000
Al 10,000
402 2I2F X201 & 70,000 260,000 A190,000
= 50,000
< 10,000
Al 10,000
02 QI THEAIE EE(0IMTHE) 70,000 260,000 190,000
ottshss4dH &x4l X3 70,000
= 50,000
< 10,000
Al 10,000
CletNssdl el X2 1,549,140 1,594,935 N45,79%5
= 726,7%4
< 363,377
Al 459,009
307 212+01& 1,549,140 1,594,935 N45,795
= 726,754
=S 363,377
Al 459,009
10 Al SXAEEE 22X 1,549,140 1,594,935 N45,79%5
ottsN=sHE el2bl X 1,549,140
[ 726,754
= 363,377
Al 459,009
CIiEtNEsdE 2941 X2 348,200 252,000 96,200
[ 130,000
= 65,000
Al 163,200
307 gl2to| & 348,200 252,000 96,200
[ 130,000
= 65,000
Al 153,200
10 AlISIIAIEEE 22X 348,200 252,000 96,200
otugNsEsaH 234l K& 348,200
= 130,000
< 65,000
Al 163,200




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CENESdE 2EAI2t 2 K& 23,640 21,274 2,366
= 11,820
== 5,910
Al 5,910

307 212+01& 23,640 21,274 2,366
= 11,820
=S 5,910
Al 5,910

10 Al SXA2EE 22X 23,640 21,274 2,366
OtigNESsHEH 2EAI2 2 T2 23,640
[ 11,820
= 5,910
Al 5,910

CIE=SdE SAL SE+E 61,440 54,720 6,720
== 1,712
Al 49,728

301 2eEN= 61,440 0 61,440
< 1,712
Al 49,728

02 A2 EH LGS (FHAAHS, XNLWE) 61,440 0 61,440
OUEN=34E SAL SE84¢ 61,440
= 1,712
Al 49,728

CEIN=sSdE SAHL S2+E 17,200 16,800 400
=S 3,280
Al 13,920

307 @I2t01 & 17,200 16,800 400
< 3,280
Al 13,920

10 Al2IS XA EEE 22X 17,200 16,800 400
OUEN=34E SAL S84¢ 17,200
== 3,280
Al 13,920

CHEMESS4E JIs22(S 00 20,000 0 20,000
= 20,000

402 QI2F X201 & 20,000 0 20,000
= 20,000

02 RIENSASEZ(0IETHR) 20,000 0 20,000
OtEN=sHH JIs2E 20,000
== 20,000

AEotsHE 238 XA 1,133,544 1,145,780 N12,236
[ 566,772
= 283,386




2A:

E M

Ots=X11t
o= 58

l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 283,386

307 gl2tol & 1,133,544 1,145,780 N12,236
[ 566,772
= 283,386
Al 283,386

11 MEISXAEE 1,133,544 1,145,780 N12,236
OXIotsSHE 2| X2 1,133,544
= 566,772
& 283,386
Al 283,386

KS0ISHE 2lAd] X2 6,192,324 5,350,630 841,694
= 3,035,262
< 1,517,631
Al 1,639,431

307 glztol & 6,192,324 5,350,630 841,694
= 3,035,262
== 1,517,631
Al 1,639,431

11 AMEISXAEEES 6,192,324 5,350,630 841,694
OXIG0ot=sHIE eldd|l XI& 6,192,324
[ 3,035,262
=S 1,517,631
Al 1,639,431

Sd€ XE0tsdH I A& 223,100 218,885 4,215
= 84,600
=S 42,300
Al 96,200

307 @12t01 & 223,100 218,885 4,215
[ 84,600
= 42,300
Al 96,200

1 AMISXAEEXS 223,100 218,885 4,215
OSdE8 NF0tsdH =0t A& 223,100
[ 84,600
= 42,300
Al 96,200

NEotsHE 238 =0t A& 41,400 41,400 0
=S 12,420
Al 28,980

307 @12t01 & 41,400 41,400 0
== 12,420
Al 28,980

11 AMEISXAEEES 41,400 41,400 0




2A: Ots=X1
B Ols=x =X
l: OFS=XIAIE X (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXIY0ots4lE 238l =t X& 41,400
& 12,420
Al 28,980
KS0otsHE SALR =5 342,000 320,960 21,040
T 68,400
Al 273,600
301 LB F 342,000 0 342,000
= 68,400
Al 273,600
02 MBI B XG2S (HUAS, NLTHEA) 342,000 0 342,000
OXIE0otsHE ALK = 342,000
= 68,400
Al 273,600
KEotsHE SALL =X+E 365,400 282,600 82,800
307 212+01™ 365,400 282,600 82,800
10 Al S XA EEHER2IHIE X 365,400 282,600 82,800
OXI0tsHE SALA SX=E 365,400
NS0tsHE SAHAL 124H|] =IOt 306, 180 196,477 109,703
T 91,854
Al 214,326
307 QIZ2t01 A 306, 180 196,477 109,703
= 91,84
Al 214,326
10 AISIS XA EEE2IHIE X 306,180 196,477 109,703
OXIS0t=sHIE SAR l4d| F=IHXI&A 306, 180
& 91,854
Al 214,326
XS 0otsdlEe =44 X2 4,640,000 4,145,663 494,337
T 984,500
Al 3,655,500
307 2Iz2+0l™ 4,640,000 4,145,663 494,337
= 984,500
Al 3,655,500
11 Al SXAMEE R 4,640,000 4,145,663 494,337
OXIG0otsHE gutE ZAHl XA 3,938,000
= 984,500
Al 2,953,500
OXId0tsdH EQESYE ZAH| XI& 264,000
OXE0ts4dH 2= 2tall] XI& 433,000
N0ty 2FINEXIR 90,000 90,000 0
= 45,000
& 22,500
Al 22,500




2A:

E M

Ots=X11t
o= 58

l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 90,000 90,000 0
= 45,000
== 22,500
Al 22,500
02 QI XH2AILEE (01X THE) 90,000 90,000 0
OXISOotSHE SZNEXSH 90,000
= 45,000
=S 22,500
Al 22,500
NE0tsdE T2 3] =IHAI&E 639,739 639,739 0
< 191,922
Al 447,817
307 glztol & 639,739 639,739 0
= 191,922
Al 447,817
11 MEISXAEE 639,739 639,739 0
OXS0tsHH 2208 FItXI# 639,739
= 191,922
Al 447,817
NS0tSHE & - el X3 13,800 13,600 200
307 212+01& 13,800 13,600 200
10 AlRISTIAEEE 22X 13,800 13,600 200
OXISOtSHIE & - d N2 13,800
NSE0otsdE WiHwHl X 20,700 20,400 300
307 glztol & 20,700 20,400 300
10 Al SXAIEEHE2EHI 22X 20,700 20,400 300
OXSOotSHE wiu-Hl XI& 20,700
KotsHE SAUE 8,000 8,000
307 gl2to| & 8,000 8,000
1 MISXAEEE 8,000 8,000
OXFOotsHE SAUS 8,000
NSA0tsHE JIs22(E S0olat) 48,950 93,384 AN44,434
[ 48,950
402 2IZtA=01d 48,950 93,384 N4, 434
= 48,950
02 QI X2 AL EE (01X THE) 48,950 93,384 N44,434
OHAXS0ISHH JIs22 12,000
= 12,000
OUESE XN 0SHH JIsEd 6,000
< 6,000
OO0t 0tsHH JISEH 7,000
== 7,000




FA OtSS A0
B Ols=x =X
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLSAS0ISHH JIs22 13,950
= 13,950
OZ=SsU=sXA0tsdH JIsEH 10,000
& 10,000
olsEs XI& 2,449,283 1,523,252 926,031
= 825,476
= 304,771
Al 1,319,036
dFERISES 2012 £X 530,000 590,000
401 AlZHIZ S OHYI 550,000 550,000
01 A28l 550,000 550,000
OEF=HAOISESHEI|12 4Xl 550,000
405 KHaHE SH 40,000 40,000
01 AL =S F=H 40,000 40,000
OXMFHAOISESHEEI 2 HX 40,000
HFAl OlSESHZI |2 2 1,405,604 1,247,436 158,168
= 702,802
< 210,840
Al 491,962
307 212+01& 1,405,604 1,247,436 158,168
= 702,802
=S 210,840
Al 491,962
10 Al SXAEEE 22X 1,313,764 1,159,436 154,328
O&=Al OlsESHEE) |2 23| 1,313,764
= 656,882
= 197,064
Al 450,818
11 ARRIS XA E X 91,840 88,000 3,840
O&=Al OlSESEEI 2 ALiH] 91,840
= 45,920
= 13,776
Al 32,144
OISESdEI|2 AL =E 177,981 64,016 113,965
< 53,3%
Al 124,587
301 LELE NS 45,720 0 45,720
S 13,716
Al 32,004
02 A2 EH 2GS (FHAAHS, W) 45,720 0 45,720
OOISESHEI |2 SAHA S84 45,720
= 13,716
Al 32,004




SA: OFS=XIDt
33: Ots=A &4
el Ol s2EE XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 132,261 64,016 68,245
= 39,678
Al 92,583
10 Al SXAAEEHE2EHI2x 132,261 64,016 68,245
OOtsSEad2I12t SAHA =& 132,261
= 39,678
Al 92,583
Olssith ol E mlaiots 2= 17,900 16,760 1,140
201 2= 12,900 11,760 1,140
01 At22t2l] 10,620 9,480 1,140
ootsslh Mg g2 & 29 10,620
2 352484l 2,280 2,280 0
OOtSs ZAIE S RUE 0I8= 2,280
301 EtE N = 5,000 5,000
02 A2 X LGS (FHAAHS, NLWE) 5,000 5,000
OstUillol Ots - It XISl & A& 5,000
Otssith &clade A=dl N2 12,450 19,200 26,750
== 3,735
Al 8,715
307 212+01& 12,450 19,200 26,750
< 3,735
Al 8,715
11 AMEISXAEEES 12,450 19,200 26,750
Oots=tth aclas x=Hl X2 12,450
= 3,735
Al 8,715
YEEIEIIFEIZ IS ALY K& 245,348 175,840 69,508
= 122,674
= 36,802
Al 85,872
307 elztol & 245,348 175,840 69,508
= 122,674
< 36,802
Al 85,872
11 AMEISXAEEE 245,348 175,840 69,508
og=gltdasa2 08 MY X 245,348
= 122,674
== 36,802
Al 85,872
A2 BHI(OtS=X1L) 1,690,476 1,680,122 10,354
[ 909,860
= 274,928
Al 505,688




2A:
PSER
o e

el

I8 02 0
H0 Ho Jit

o o

02 02 -
oy
=

It

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

Mo

=

1,624,745
909,860
274,928
439,957

1,610,858

SRR

=

889,108
429,854
214,927
244,327

919,472

A30,364

101 e124d|

SRR

=

738,956
361,078
180,539
197,339

708,676

30,280

SRR

738,956
738,956
361,078
180,539
197,339

708,676

30,280

N
e
ue
o
H0

T

12,600

12,900

A300

=
A2
Ol
ogr
J|oR
Az
=
i
=
0
0/
o

©
=]
0

it
>
£l
=
=
RY

12,600
12,600

12,900

A300

w
R
e
oy
I |
oQ
oy
on

SRR

=

137,552
68,776
34,388
34,388

197,8%

A60,344

SRR

=

137,552
137,552
68,776
34,388
34,388

197,8%

260,344

%S OtSSEMUIA XA (212MHI)

SRR

=

266,208
212,966
26,621
26,621

260,800

5,408

SRR

=

224,000
179,200
22,400
22,400

219,000

5,000

03

R
bal
40
o M
X

i
Hu
pal
i
1

o 10
J
o
om 12
o
x
o
[>
-
{0
o
Y
o

2
Ol

©
M

SARNEY

224,000
224,000
179,200
22,400
22,400

219,000

5,000

42,208

41,800

408




SN OFS=XI Dt
M HYRAZHI(0tS=X1L)
CHel: QI 2HH|(0ISSXID) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 33,766
=S 4,221
Al 4,221
M SRA(RIAHSL) 22N BEE2RE=s S 42,208 41,800 408
OFAAE OtsSSEMHIA X (2124]) 42,208
[ 33,766
= 4,221
Al 4,221
OlsEs Mge@ XA(eldl) 469,429 430,586 38,843
[ 267,040
= 33,380
Al 169,009
101 @12A4H| 457,909 419,066 38,843
[ 267,040
= 33,380
Al 157,489
01 &2 15,067 13,056 2,011
O0tsEs MYR¥ XA (2H]) 15,067
02 JIEtAE = 442,842 406,010 36,832
Oots2Es MER@ R (2H]) 442,842
[ 267,040
= 33,380
Al 142,422
202 048l 11,520 11,520
01 2L A b 11,520 11,520
OltsEs MER¥ XIA(AH]) 11,520
[=2ZHI(0tS= X2 65,731 69,264 A3,533
JI2ZHI(0ts= X1 65,731 69,264 A3,533
201 =3 40,795 44,328 23,533
01 At22telt] 38,795 42,328 A3,533
Oggt=3H| 17,280
o23+¢ 7,000
o= gl 14,515
02 S3=gHl 2,000 2,000 0
ossitE 7l 2,000
202 04| 20,736 20,736
01 =LHO LI 20,736 20,736
OJ|=gR=A0H| 20,736
203 HR=H| 4,200 4,200
M EAEgER=A 4,200 4,200
ORNEgE =AY 350,000& 12 4,200




